PART

PLASTIC INSTRUMENTCASE

|| PART

NAME No. IP-6130 & IP-6131
[ P |
8.146 BOTIOM COVER:
1.850 1.850 1.850 1.850 ¢ .248 ¥ .050
92° C-SNK T 665 (FROM INNER BOSSSURFACE)
@ 132 THRU
(FARSIDE4 PLCS)
_ TOP COVER:
_ M3 BRASSINSERT (4 PLCS)
1.968
6.150
5710 1 5512
1.968
©®.218 BOSS
® .090 HOLEV .218 1988 ,
| g5 (16) PLCS BOTH COVERS : i A
BOSESUSEATHERM2.5 METRIC
! 4842 T 3.1%0 ! OR#4 SID. SHEETMETAL SCREWS L
(NOT SUPPLIED) |
I 10.240 L |
S T PSS S SSSSSSSSSSSSSISSS \ 7
|
L s f
1 A ‘ T
] ] o E = ]
T_ 30.00° S
123 156
SECTION A-A N |
I
.070 LA
| —=f 1282
293
®.193
BO™ S,DES?i [e—— 586
150 1
5 = 055 1.479 5
NOTES DETAILB A
MATERIALS & FINISHES 00
_ _ _ COVERS- ABS(LIGHT GREY)
iy UL94-HB FLAM M ABILITY RATING c
= = PANELS- ABS (BLACK)
HANDLENOTSHOWN UL94-HB FLAM M ABILITY RATING e
HANDLE SUPPORTS. ABS(GREY) 1
USAEE NTENAL UL94-HB FLAM M ABILITY RATING
TOTALHEGHT | COVERHHGHT | BASEHEGHT | paNB omacp cINTENAL HANDLE - ALUMINUM EXTRUSON (GLEARANODIZE) 6.500
HARDWA RE INC LUDED:
PARTNo. A B ¢ D E HANDLEKITAND (2) M4 x 10mm PAN HEAD MOUNTING SCREWSINCLUDED
IP-6130 2570 1.770 800 2012 2324 ((i)) M3 x2omm RATHEAD SCREWS
IP-6131 3540 1.770 1.770 2.982 3.294 ALL DIMENSONSHAVE #.015 TOLERANC E UNLESSO THERWISE SPEC IFED

REV:07/06/04




